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Write all answers in both scientific notation and standard form.
Be careful that you think about if you should multiply. Not all of them are multiplication!

11 McDonalds has about 2.1x10° managers and each manager makes on average 4 x 10" dollars per year.

How much money does McDonalds spend on 1ts managers each year?
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13. The SR-71 Blackbird is one of the world’s fastest airplanes. It 1s capable of traveling at Mach 3, or three

2 L
times the speed of sound. The speed of sound 1s dppl oximately /.6 X 107 miles per hour. What is

Mach 3 in miles per hour?
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14, Using the information below, how much money did the US lose by making nickels in
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